OvopaTiKd cupumTAnpWHATA Kl
MMPOCSIOPICHOI TWV OUCIAOTIKWY

(Nouns as complements and

Within a noun phrase (NP) the head noun
might be modified or complemented by
another noun which is either in genitive
or in the same case as the head noun. For
example, in the first sentence the NP in
genitive (tng woudg tov) modifies the head
noun (;woudt). In the second sentence the
NP (m ¢thn g AyzdBog) modifies the NP
(n Khewo) and they are in the same case.

modifiers of nouns)

O Adxns eivar woudi tng
UaUAS TOV

H Kieww, n @idn ths Ayxabag,
elvat ovvauxn

A. ETeponTwTol MTPOOSI0PICHOI TOU OUCIACTIKOU

(Genitives dependent on nouns)

Nouns in the genitive which modify the head
noun answer the question “ttvog / motovov”
and have a range of semantic relations. The NP
in the genitive usually indicates possession.

It can also denote other semantic relations,
such as origin, quality, time / place, quantity,
cause, purpose, content etc.

To moonlato tov Adxn givar xO0xxivo —
To moonlato mov Eyet 0 Aaxng gival
HOXHIVO

Ta uabiuatao s eméuevns efooudoas
oev Oa. yivovy

Tov apéoovy moAv ot eliés Kalauwv, o
xaAPag Maxedoviag, o uéit Attixis xarn
voapiéoa Naov —

Tov apéoovy moAv ot eAiés amo Ty
Kaiaudra, o yalfas amo tn Maxedovia,
T0 UéM amé Ty Attiny xat n yoaPiéoa
a6 ™ Na&o
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The relationship between the noun in
the genitive and the head noun, which is
connected to a verb, might correspond to the
one that holds between a verb and either its
subject or its object.

e NPs in genitive might have certain

i 7| idiomatic uses.

70

e There are some elliptical structures
denoting place or time in which the head
noun is omitted.

* Some adjectives denoting some kind of
comparison are followed by nouns or clitic
pronouns in genitive.

¢ Certain pronouns, numerals and adverbs
may take clitic pronouns in genitive to
clarify / specify the entity they refer to.

* Feminine surnames are formed by the
genitive of the masculine.

To thAepavnua tns Kieiws avaotdtwoe
10 Adxn — H Kieid tniepavnoe xau
avaotdtwoe 1o Adxn

O Zayivns ovvibws Bonbaer thy Ayxabo.
oto xabdotoua tov omitiov — O Xayivyg
Ponbaer tnv Ayxaba va xabapioetl to omiti

fashionable

To yxot eivar g uodag

‘ next year

Oa 00w Ttov YpoVOU

he is very
stubborn

Kaveir tov xepaliov tov

otns EAévng

Iyaue
oto onitt tns EAévng

UE TOVY EQTA,

Oa pvyw
UE TO TOEVO TV eQTA

Tov Ayiov NixoAdov

2nueoa eivat
n Y1011 tov Ayiov Nixoidov

O Tavvyg eivar ovvounixog tov

‘HobO¢ uovn s | Hobav xai ot dvo tovg
‘HoOBav 6Aot tovg | Aev nobav moté tovg

"HoOe n »vpia Iloviomoiviov



ACTIVITIES

1. Rewrite the following sentences by replacing the genitive with an
appropriate adjective

TOL TEOPAUOTA XKURAOPOQIOG - Ta 2VKAOQoQLaXA TEOPATUATA
1. 1) oT0QY1 TG UNTEQQS -
2. oL LoToQieg g Balaoo0g —
3. 10 peyydoL Tov Avyovotou —

4. n notdotoon g owoyévelag —
5. 10 pndm Tov avBpmIou —

6. To Ao g Kontng —

2. Look at the following phrases in Greek and English. What is the
difference between the Greek and the English examples in terms of word
order and the form of the words?

to BLpMdoLo aobeveiog — the health card

yvoMd niiov — sun glasses

3. Can you figure out the missing nouns in the following elliptical phrases
™Y nuéoa

1. Ou xewneprvoi xolpupntég ®Avouv To TEMTO TOVS WITAVLO ' TOV POHTOV

2. Pevym yLo TG ooy aAvES OLoroméS Tmv Batov xol emlotoépm Tov Owpa

3. To mapt elvon otov Koota

71



72

4. Rewrite the underlined phrases by replacing them with prepositional
phrases (amod, oe, yia)

1. Z10 ®vvhxeto  Oeavd madyyerhe Eva eMTLAVL OQE, VO GAVTOULTS TOVOU KO UL
ooxoldTo auvyddiov

210 ®olreto | Oeovd mapdyyehe Eva QMTCAvL e xapé

2. H nalten nitoa €xer odhtoa vroudrag, yoofrépa Kovme now coldur @odxng

3. o 1o paBnua yoerdCouar: éva PLpAto eEMMNVIRAY, £Va TETOAOL0 AORNOEWY, EVal

LeEO @Aoemv %ot £vo naeradOQ0 VITOYQAUUONG

5. Transform the phrases by replacing the first noun with a verb.
Sometimes two sentences are possible

oxéproual Ty yiayla

N O%EYPN ™S YLOYLAS
UE OREQTETAL 1] VIAYIA
1. 1 mapaxrorotnon tov vedTov —> _'!I T "“‘?*’t
B
|~ T o
2. 1 VTOOTHELEN NG OLOYEVELAS TOU —> o '
3. m yévvnon mg roeng tg -
4. ) poovtida Tov Betov —
5. 0 TOVOC TOV TOTITOV -




B. OpoionTWwTOo!I MPOCSIOPICHOI TOU OUCIACTIKOU

(Appositions)

A noun may be modified by another noun
in the same case (nominative, accusative
or genitive). In these cases the modifying
noun specifies the identity of the head noun
and is called apposition.

/2 The modifying noun is indeclinable.

There are also appositive structures in which
the modifying noun declines according to
the head and it is interchangeable with it.

When the noun phrase denotes content, size,
quantity and dimension, both the modifying
and the modified nouns are in the same case.

4= In the following sentences, the first one

denotes content, whereas the second refers
to a specific kind of spoon (small, tea
spoon).

amo x0es To amdysvua

O Adxng eivar moAd otevoywonuévosg mov
éyaoe To oxvlo Tov, Tov Aoyo

H toyn tov Agyov, Tov oxvlov tov Aaxn,
ayvoeital

Orav nye o 2ayivns otnv Konty, éueive
otov Eevava «O Kontixdg»

H Kieww »ar n AyxdOa eiyav dwoet
oavtefov otis 8:30 éEw amo tny eicodo Tov
xIVNUOTOYEAPOV «Aavadg»

O Zayivns owdfaoce uéoa o’ éva fodov
éva Pipiio tov Nixov Kalavraxn, tov
ayamnuévov Tov ovyyoapéa.

Ilavw oto yoageio tov o Zayivns éxet éva
xovti uapradopovs | Ilavw oto yoapeio
TOV Zayivy vaoyeL Eva xovti uaexadool

H Bifrliobnxn tov Zayivn éxet 0o uétoa
VYog, TE0OEQA, UETQA TTAATOG xal gival
veuarn Pipirio

O Zayivns épaye uovo éva xovraidxi
YAVXO, yLa va uny mayvvel

O Zayivns paler orov xagé tov éva
xovtaidxt tov yAvxov Ldyaon
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ACTIVITIES
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1. Choose one of the two phrases to complete the sentences

1. umoA worywtd / Witoh marywtov Mmopmd va (pam

Mov ’omtooe

2. TOT oL ®QOOL / TOTHOL REOOLOV (T#) Hootud

__Avto eivon

3. phtCavia Tod / pMTTAvIa TooyLoU H Aéomowva pov mpe

Kabe andyevpa v toio

2. Replace the underlined nouns with prepositional phrases

O Zayivng aryopaoe €vo rOAOL VIOUOTES —> £V XAQAOL [LE VIOUATES

1. H AyzdBa €01Ee notd MaBog évo pMTEAvL 2apE TAVED 0T YOQTLE TOV Zoyivy —

2. H Kheww, 6tav €xet ayyog, umwoel va mel 900 wrovrdha vepd —

3. H Kheud »60¢ mowi mivel évo motoL mogtoralddo —

4. - Zayivn pov, yort ieg wa xotta yvuovg; ITowog Ba toug mier; Ba yahdoovy —

5. O Zayivng éoterhe oty AyrdOa wo oryrod ToLovTaguila Yo ta YEVEOMA TG —

3. Fill in the blanks with the nouns in the appropriate case

1. [ToAAG autd To movjuata Tov EAvn, (o voumehiotag

TomTNg), €xouv yivel Toaryovdia

2. 210 00AGVL TOV TTAOLOV (Kvwoodg) dev o’ agrvouv

va nowunOeig

3. Oa cuvaviBovue 5w amd T0 RAPEVEID (Kopanc)

4. Ta toayovdLa tov Oeodwdun, (0 ouvB€mng g

Pwuwooivng), axovyoviow 6” GAo Tov »60Uo



4. Tell Sahinis how to find each place in the neighborhood

AOZOZ AYKABHTTOY

{_ =x0AH xopoy )< !
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